Assignment Question paper

Session: 2023 - 24 Max. Marks: 30

Program Name: B.Sc.

Course Code:UGCHE-101 Course Name: INORGANIC CHEMISTRY- |

(BASIC INORGANIC CHEMISTRY)

SECTION -A 2*6=12 marks
Q. No. | Short answer type question (approx. 200 -300 words) Marks
1 Calculate the bond order and shortest bond length of the following molecule: 2
NO, NO*, NO**, NO
frfeiRaa o] & do9 % IR |aY BICT 999 Fd1g HI TUMT Pv:
NO, NO*, NO**, NO
2 Radius of Cs* ion is 1.69 A and Cl ion is 1.8 A, find packing structure with the 2
help of radius ratio rule.
Cs" amre &) frour 169 A ® 3R sg—amaw & B 18 A 2 Browr eruia form &
HERIAT | AT AR S N |
3 Calculate the bond order, bond length and magnetic character of the CN and CN’ 2
molecules.
CNaiR CN' 3mii & e %, 98 &1 didls R gedra IR Y T N |
4 How we can calculate the percentage ionic characters of the covalent bonds? 2
eI g8 & Tfaerd e IR &1 T Hd B Adhd 87
5 Explain why a Van der Waals radius of Chlorine is greater than the covalent 2
radii of chlorine.
FaTd fb Tl @ 99 R ared Broar 399 e wl & Tl & Aegdieie e
6 What is the effective nuclear charge felt by 2p electron for a oxygen atom? 2
RIS 4=RA] & U 2p Selag M §RT 98 A1 S dTell JHTd) IRETY] ATeT T 87
SECTION -B 6*3=18 marks
Long answer type question (approx. 500 -800 words) Marks
7 Discuss band model of sodium metal, an insulator and semi conductor? 6
AISTH o7, U 3eleR 3R Jaredd & ds Hlsd TR =4l H?
8 Molecules of CH4, NH; and H,O involves sp3 hybridization but bond angles of 6
these molecules are 109.5°, 107° and 104.5° respectively and why?
CH,, NH;3 3R H,O & ot & sp® wawor wnfiier & oifd 39 aropeil & §e ®ior sharer
109.5% , 107° &R 1045° & 3R P
9 Explain the limitations of Bohr's theory? 6

AR @ Rigld @ WEn qaqrg?




Session: 2023 - 24 Max. Marks: 30

Program Name: B.Sc.

Course Code:UGCHE-102 Course Name: ORGANIC CHEMISTRY-I

(BASIC ORGANIC CHEMISTRY)

SECTION -A 2*6=12 marks
Q. No. | Short answer type question (approx. 200 -300 words) Marks
1 What is bond polarity? Write a IUPAC structure of 4-ethyl-2,4,5-trimethyl hexane. 2
S YR FATE?  4-TRAT-2,4,5-TRAYFA g0 Y |UPAC FTTT fad|
2 Why alkyl groups are showing positive inductive effects ? 2
3 Write down the essential structural requirement for hyperconjugation. 2
FRIRHYIAA & AT TS WAATcHS Hraeghar faf@w)
4 Explain Wurtz Reaction and also give its mechanism. 2
aéor AFATFT Fr gAY TUT EE Fafafer oft gasd|
5 How many chain isomers are possible for C4H;,. Draw their structure? 2
CyHio % TOT fFaa) @a ITSWAA Fora 87 IoTeh! FIAT ToA154?
6 What do you understand by the term homolysis and heterolysis ? 2
gAfafaw 3t dfRfRw asg @ 39 Fa1 FAESA §7
SECTION -B 6*3=18 marks
Long answer type question (approx. 500 -800 words) Marks
7 What do you understand by the terms hybridization? 6
THIUT A5G W ITT FIT THAFIA 87
8 Explain the following terms with the help of suitable examples: 6
1. Enantiomer 2. Optical activity
3.Chiral molecule
3UGF 3ETEX0I A TErIdT A et fad el # aagmse:
1. TR 2. fer 3oy
3 Jifewra afafafer
9 Write short note on following reaction of alkanes : 6

1. Halogenation 2. Nitration
3. Sulphonation

e ) Arafaf@a wfafrar o wfrea feogofht o

1. §ISRIOT 2. ATSEHT
3. gewlaereT
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SECTION -A 2*6=12 marks
Q. No. | Short answer type question (approx. 200 -300 words) Marks
1 The normality of a solution is determined by four separate titrations, the 2
results being 0.2039,0.2041,0.2049 and 0.2043. Calculate the mean
and median.
forelt frerarer <y AAteraT T rerT-3rerer JrgATIST gERT freiRe At STl
€, aROTm# 0.2039, 0.2041, 0.2049 31% 0.2043 §1 ATET 3 ATFCIHT HY
IOTAT FX|
2 What are the applications of complexometric titration? 2
PIFCAFAIAIEH HTATIS F TR FT 32
3 What is the distinction between gravimetric and volumetric analysis? 2
ARARF AR ITegARS Redwor & g Fam s 2
4 What is the phenomenon of Co-precipitation? 2
HE-3798Y90T Y U= FAT 872
5 What are the causes of gross error? 2
I e F T4 FROT 2
6 What are the applications of acid-base titration? 2
IFA-8TR HTHTIS 3 TN FAT 82
SECTION -B 6*3=18 marks
Long answer type question (approx. 500 -800 words) Marks
7 What is the purpose of washing liquid during gravimetric estimation? 6
AfAAREE e F SRIeT aT FY 91 FT 3T FATR?
8 What are the different types of indicators used in complexometric 6
titrations?
PICAFAIAEH HTATIS H 39T forT 1ot arel AT TR & TFas
FATE?
9 Differentiate between the terms precision and accuracy. 6

Tt 3R e ereal & ot 3T qan)




